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<%@ language="java" contentType="text/html; charset=UTF-8"
pageEncoding="UTF-8"%:>

<!DOCTYPE html>

<html lang="ko">

< page="/view/include/head.jsp"/>

<body>
<div id="page-wrapper">
< page="/view/include/header.jsp" />
< page="/view/include/nav.jsp" />

(Sectin“ _:,_l'_llT;_._:H."II P [P | e — L W o
<nav id="nav">

<ul>
<1li class="current"><a href="/">Home</a></1i>
<li><a href="#">Store</a>
<ul>
<li><a href="#">List</a></1li>
<li><a href="#">Register</a></1i>
<li><a href="#">Location</a></1i>
<ful></1i>
</ul>
<div class="login_box left">
<button class="ceo_btn">CE0 SITE</button>
</div>
<div class="login_box right">
<label for="id">ID: </label> <input type="text" id="id" name="id" />
<label for="pw">PW: </label> <input type="password” id="pw" name="pw" />
<button class="login_btn">LOGIN</button>
</ <button class="join_btn" onclick="location.href="/view/join/joinMain.jsp'">JOIN</button>
</sect </div>
</nav>
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public class

PreparedStatement pstmt;

Connection con = nu ) ) ' = 3lo
public void ConnectorClose(Connection con, PreparedSt DB &35 %!'n_l

public Connection D try {
s if( con == null ) {
url = "j ;
e e o .out.println("Z%% Connectiono| g&LICt.");
pwd = "c } else {
con.close();
.out.println("Z=% Connectiong ZEoigaLT.");

try {
.forNa

con = }

i el = if( pstmt == null ) {
ot .out.println("Z<& PreparedStatementol gLt ");
} else {
pstmt.close();

) return .out.println("EE PreparedStatements Zast@aLitt.");
} catch ( }

e.printStac } catch ( e) {
} // TODO: handle exception

return null: }
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<form action="/CustomerController" method="POST"
class="form join" id="joinform">
<div class="row">
<div class="col-12 row
<labe™ - " "
t wvar regExp =
</div>
¢<div clas 1if (!regExp.test($("#phone™).val())) {
<labe alert('#HE=g 232 SAQSIMR. ") ;
- return false;
r
<butt
c
<inpu
</div>
<div clas
<labe
t
c
</div>
<div clas
<labe

t }

c

function submitTest() {

if($("#join_password”).val() != $("#password_Chk").val()) {
alert("HI2s Q10| 2K Z&LICH. ") ;
return false;

if($("#join_id").val() != $('input[name=idChecker]').val()) {
alert('oto|C] E& 012 SiFMHE.");
return false;

$("#joinform").submit();
SY,ID S 2 HE
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<div class="col-12 row mgtes">
<label for="join_id" class="col-3"»>ID</label>
<input type="text" id="join_id" name="join_id" class="col-6" />
<button type="button" onClick="idCheck()"|class="button col-2 right">Zs5&¢0l/button>
<input type="hidden" name="idChecker" value="unCheck">

sldivs
<script>

$(document) . ready(function() {
$('.join").append(%( '<input name="adult" id="adult" style="dis
s

function idCheck() {
var $id = $('#join_id").val();

if($id == "") {
alert('otojC|= ¢St E. ") ;
return false;

T
$.ajax({

async: true,
type : "POST',
data : {"joinid’': $id},
url : "/idCheck",
dataType : "json",
contentType: "application/json; charset=UTF-8",
success : function(data) {
if (data == @) {
alert("olo|C|7} Z=AISILICH. CI2 ofolC]s sz . ") ;
$("inputlname=idChecker1').val( 'unCheck');
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public class public class
AL
| HHHS M | BN DBOil JDBCE A&
private name private Connection

private id = "";

private password = 5 private PreparedStatement pstmt;
private phone = "";

pr@vate _ §ddress = : private ResultSet rs;

public int join( customerV0) {

SQL = "INSERT INTO customer_info (id,password,phone,adult,address,name)

try {

pstmt = con.prepareStatement(SQL);
pstmt.setString(1l, customerVO.getId());
pstmt.setString(2, customerVO.getPassword());
pstmt.setString(3, customerVO.getPhone());
pstmt.setInt(4, customerVO.getAdult());
pstmt.setString(5, customerVO.getAddress());
pstmt.setString(6, customerVO.getName());
return pstmt.executeUpdate();

} catch ( e) {

e.printStackTrace();
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if($("#jéin_pasaw
alert("H 2= -
return false;

1
¥

SF oOLo|IC) ESE=0 HE

if(sC™ #131n id":-} Y = (" "input[name=idChecker] ").wval{)) {
alert(” == SPIE SiFEMe . ") ;
return False

1
¥

B("#jDiH_DESSWDFd"}-Val($-md5{$["#jDin_paSSWDFd"}-Val(}}}j

$("H#Hjoinform™) . submit();

=

MD5(Message Digest 5) ol A| &t
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mysql> select * from customer_info,

| idx | id | password | phone | adult | mileage | address
| name

1| test | test| 1A | 01011111111 | 0 | 00000000000 | HAE= HIAEZ 1T
HA~E
? | test? | test | 01011111111 |
| 777 |
4 | ronadult | test | Q1011111111 | 0 | 00000000000 | HAE=E HIAEZ 1
| A4HHAE |
5| adult | test | 01011111111 | 1] 00000000000 | HIAE= HAEZ 1
| MOIEAE |
| 6 | private | 2017T63%3]7ﬂ%830488834d6b?800560 | 01011111111 | 1] 00000000000 | HIAEZ HAEZ 11
UBHAE
| 7| cyib40 | 5f658fq?2§gl539453a65668bTa48062 | 01039486775 | 1] 00000000000 | AT U2kA Lprz
| 8 | wusdmlwjarh ﬂbgdcﬂéé?ag§1BCHPPPﬂ989b85b07741 | 01043864100 | 1] 00000000000 | AT BAA 20|13 A=
a8 EEE |

[y— [ e

T rows in set (0.0P sec)

AtE8X} H{YHS E s A|(MD5)5H0] X%
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<span class="fl1">012: <¥=customerVO.getName () .

<p class="f parent">

class="fr">0r2E|X: <¥=customerVO.getMileage()%>=

</span>
</p>
</header:>

<section class="mypage bl<tbody:>

<ul class="actions f|
<1i class="+1"><{
HE</ar<
<1i class="fr"><{
class="butto

<ful>

<ul class="actions f|
<1i class="f1"><{
<11 class="fr"><{

W< /a><y
<ful>

N
<tr> LIS R 8 =tH
<th>ID</th>
<td><HF=customerVO_getId() Z><,/td:>
<SEtr>
<tr:s
<th>o01=</th>
<td><X¥=customerVO.getMName() X></td>
=< fEr>
<tr>
<th>FstH=< th>
<td><HB=customerVvO_getPhone()%></td>
<SEtr>
<Etr>
<th>ZFz=2=</th>
<td><H¥=customerVO.getAddress{ )2><,/td>
< SEtr>
<tr>
<th:>0Or22|x </ th>
<td><¥=customervO.getMileage ()% ><,/td>
< SEtr>
< /tbody:>




<h2>#AH|/UE</h2>
</ header:>
<farticle>
<fd1v>

<scmpt>
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function subnitirite() {

) =")
alert( e Ueaa. '),
return false;
b else 3 (§("buontents”).val() = ") {
alert (U3 282, ),
return false;

}

(| I

§(" board ") appena(§'<innut neme="type" ="ty
§(" hoand").append(§("ciput neme="suthor” 1d-“

§("hiritefon’).submit();

([sripty

HELE| ZHAd

style<"tisplaynone" s ) val write")

thor style="display:nane" "), vaL{"Chesthorky”));

seripty
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function subnithenly() {

[z

if (§("Hitle)val() = ") {
alert( A2g LamAn. ),

raturn false;

alse if (§("foontents ") val() == ") {
alert U2z 2zie. )

return false;
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nane="type" 10="type" style="displayonone’ ') val "reply"));
fyle:"

t
t nane="ref" id="ref" style="display:none")>') val " checommumity\0. gethoard ref() B"));
t nae="level" 3d-"Tevel" style="display:none">').val{" hecomunityl) pethaard level(}®"));
t mane="sten" 1d="step" style="displayznone">').vel (" hecommunity\0.pethoard sten()o'));
t nane="author” 3d="author” style="display:none"/>") val " heauthory'));
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